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Section Id :
Section Number:
Section type:

Mandatory or Optional :

19088969
1
Online

Mandatory



Number of Questions : 25

Number of Questions to be attempted : 25

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 190889105
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 1908892899 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct word that can best complete the given sentence:

By training children at a young age we can bring out the talents 1n them.
(1) artificial (2) budding
(3) superficial (4) 1nherent

Options :

19088911501. 1
19088911502. 2
19088911503. 3

19088911504. 4

Question Number : 2 Question Id : 1908892900 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



From the cholces given below., select the pair which exhibits the same relationship as the one

in capitalized pair of words:

SOUP : APPETIZER

(1)  coffee : bean (2) pudding : dessert
(3)  breakfast : cereal (4) tea:drink
Options :

19088911505. 1
19088911506. 2
19088911507. 3
19088911508. 4

Question Number : 3 Question Id : 1908892901 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the most suitable synonym :

MUDDLE

(1) whisper (2) horde

(3) disorder (4) speculate
Options :

19088911509. 1
19088911510. 2
19088911511. 3
19088911512. 4

Question Number : 4 Question Id : 1908892902 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Identify the part of the body with which the disease 1s assoclated:

Leukemia

(1) heart (2) skin

(3) lungs (4) lymphatic system
Options :

19088911513. 1
19088911514. 2
19088911515. 3
19088911516. 4

Question Number : 5 Question Id : 1908892903 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the expression below from the options given:

Per se

(1) by word of mouth (2) zossip

(3) by 1tself (4) spontaneous
Options :

19088911517. 1
19088911518. 2
19088911519. 3

19088911520. 4

Question Number : 6 Question Id : 1908892904 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Identify the meaning of the underlined word:

Home appliances manufacturer ‘B’ electrical Limited 1s looking for acquisitions in the
domestic market.

(I)  obtainment (2) apprentice
(3)  attrition (4) attention
Options :

19088911521. 1
19088911522. 2
19088911523. 3
19088911524. 4

Question Number : 7 Question Id : 1908892905 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the phrase below from the options given:

Leave to a person by a will

(1) beseech (2)  billow
(3) blanch (4) bequeath
Options :

19088911525. 1
19088911526. 2
19088911527. 3

19088911528. 4

Question Number : 8 Question Id : 1908892906 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the most suitable antonym:

SKIMPY

(1) glaring (2) modest

(3) affluent (4) generous
Options :

19088911529. 1
19088911530. 2
19088911531. 3
19088911532. 4

Question Number : 9 Question Id : 1908892907 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the 1diom from the options given:

A man of the world

(1) headstrong and arrogant
(2) highly trustworthy
(3) very popular because of success

(4) highly experienced in many fields
Options :
19088911533. 1
19088911534, 2
19088911535. 3

19088911536. 4

Question Number : 10 Question Id : 1908892908 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the correct word from the answer:

Now a days. 1t 1s difficult to good books 1n Enghish.

(1) track (2) verify

(3) find (4) know
Options :

19088911537. 1
19088911538. 2
19088911539. 3
19088911540. 4

Question Number : 11 Question Id : 1908892909 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If Neena says “Amta’s father Raman 1s the only son of my father-in-law Mahipal”, then how
15 Bindu. who 1s the sister of Anita, related to Mahipal?

(1)  Neice (2) Daughter
(3 Wife (4) None of these
Options :

19088911541. 1
19088911542. 2
19088911543. 3

19088911544. 4

Question Number : 12 Question Id : 1908892910 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Choose the missing term out of the given alternatives.

YW 1,5, .,

(1) N.d (2) M.L

(3) J. R 49 O.M
Options :

19088911545. 1
19088911546. 2
19088911547. 3

19088911548. 4

Question Number : 13 Question Id : 1908892911 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the given words 1n alphabetical order and tick the one that comes last.

(1) Abandon (2) Actuate
(3) Accumulate (4) Acquit
Options :

19088911549. 1
19088911550. 2
19088911551. 3

19088911552. 4

Question Number : 14 Question Id : 1908892912 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Raman ranks sixteenth from the top and forty mne from the bottom In a class. How many
students are there in the class?

(1) 64 (2) 65
(3) 66 (4) None of these



Options :

19088911553. 1
19088911554. 2
19088911555. 3
19088911556. 4

Question Number : 15 Question Id : 1908892913 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If X means +. — means X . + means + and + means —. then

(3— 15:19) x 8+ 6="?

(1) 8 (2) 4
(3) 2 (4 -1
Options :

19088911557. 1
19088911558. 2
19088911559. 3

19088911560. 4

Question Number : 16 Question Id : 1908892914 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative based on relationship :

Botany : Plants::Entomology : ?

(1) Snakes (2) Insects
(3) Birds (4) Germs
Options :

19088911561. 1
19088911562. 2

19088911563. 3



19088911564. 4

Question Number : 17 Question Id : 1908892915 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct answer:

9572 — 4018 — 2164 =?

(1) 3300 (2) 3390
(3) 3570 (4) 7718
Options :

19088911565. 1
19088911566. 2
19088911567. 3

19088911568. 4

Question Number : 18 Question Id : 1908892916 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The H.C.F. (Highest Common Factor) of 2923 and 3239 1s :

(1) 37 (2) 47
(3) 73 (4 79
Options :

19088911569. 1
19088911570. 2
19088911571. 3

19088911572. 4

Question Number : 19 Question Id : 1908892917 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One fifth of a number exceeds one seventh of the same by 10. The number 1s :

(1) 125 () 150
(3) 175 (4) 200
Options :

19088911573. 1
19088911574. 2
19088911575. 3

19088911576. 4

Question Number : 20 Question Id : 1908892918 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a number, divided by 4. 1s reduced by 21, the number 1s :

(1) 18 iy 20
(3) 28 (4) 38
Options :

19088911577. 1
19088911578. 2
19088911579. 3
19088911580. 4

Question Number : 21 Question Id : 1908892919 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The newly launched 100 rupees notes have the motif of ——— on the reverse side.
(1) Mangalyaan (2) Sanchi stupa
(3)  Hampi with chariot (4) Ram lkavav

Options :

19088911581. 1



19088911582. 2
19088911583. 3

19088911584. 4

Question Number : 22 Question Id : 1908892920 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 'Mission Purvodaya' imtiative 1s related to the development of which of the following?

(1)  Agmculture sector (2) Space zector
(3) Dairy sector (4) Steel sector
Options :

19088911585. 1
19088911586. 2
19088911587. 3

19088911588. 4

Question Number : 23 Question Id : 1908892921 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Generally wooden doors are difficult to open or close during rainy season because of

(1) Diffusion (2) Imbibition
(3) Osmosis (4) Photosynthesis
Options :

19088911589. 1
19088911590. 2
19088911591. 3

19088911592. 4

Question Number : 24 Question Id : 1908892922 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mahabhasya. an outstanding work 1n the fields of Sanskrit grammar. 1s attributed to

(1) Ghosha (2) Ashwins
(3)  Patamjal (4) Kahdas
Options :

19088911593. 1
19088911594. 2
19088911595. 3

19088911596. 4

Question Number : 25 Question Id : 1908892923 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who among the following passed the Bengal Sat1 Regulation Act. 1829, which declared the
practice of ‘Satl a pumshable offence?

(1)  Lord Wilham Bentinck (2) Lord Dalhousie
(3)  Lord Wellesley (4) Warren Hastings
Options :

19088911597. 1
19088911598. 2
19088911599. 3

19088911600. 4

PART B - M.A. EDUCATION

Section Id : 19088970

Section Number: 2



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 190889106
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 1908892924 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following best represents diversity?

(1) It leads to similarity among people
(2) It leads to discrimination among people
(3) It accepts inequality among people

(4) It accepts differences among people

Options :

19088911601. 1
19088911602. 2
19088911603. 3

19088911604. 4

Question Number : 27 Question Id : 1908892925 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements 1s correct?

(1) Education is a science
(2) Education is an art
(3) Education 1z both art and science

(4) Education is neither an art nor a science

Options :

19088911605. 1
19088911606. 2
19088911607. 3

19088911608. 4

Question Number : 28 Question Id : 1908892926 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who was the supporter of naturalism in education?

(1) Froebel

(2) Rousseau
(3) John Dewey
(4) Armstrong

Options :

19088911609. 1
19088911610. 2
19088911611. 3

19088911612. 4

Question Number : 29 Question Id : 1908892927 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which 1s the dynamic side of Education?

(1) Psychology (2) Sociology
(3) Philosophy (4) Anthropology
Options :

19088911613. 1
19088911614. 2
19088911615. 3
19088911616. 4

Question Number : 30 Question Id : 1908892928 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Culture 1s

(1) Characteristics and products of the learned behaviors of a group of people
(2)  Totality of mutual understandings of the people in a group

(3)  Totality of the inter-relationship of the people of a group

(4) Sum total of feelings of the people of a group

Options :

19088911617. 1
19088911618. 2
19088911619. 3

19088911620. 4

Question Number : 31 Question Id : 1908892929 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who among the following is a naturalist?

(1) J. Krishnamurthy (2) Sr Aurcobindo
(3) Rabindranath Tagore (4) Swam Vivekananda



Options :

19088911621. 1
19088911622. 2
19088911623. 3
19088911624. 4

Question Number : 32 Question Id : 1908892930 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a characteristic feature of culture?

(1)  Culture 1s social inhertance (2) Culture 1s biological inheritance
(3) Culture 1s accumulative (4) Culture 1s constant
Options :

19088911625. 1
19088911626. 2
19088911627. 3

19088911628. 4

Question Number : 33 Question Id : 1908892931 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which type of education 1s supported by John Dwey?

(1) Special education (2) Higher education
(3) Primary education (4) Progressive education
Options :

19088911629. 1
19088911630. 2
19088911631. 3

19088911632. 4



Question Number : 34 Question Id : 1908892932 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who said “education follows social change™?

(1) Durkheim (2) Ottaway
(3) Johnson (4) Dewey
Options:

19088911633. 1
19088911634. 2
19088911635. 3

19088911636. 4

Question Number : 35 Question Id : 1908892933 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The characteristic of behavioral objective 1s

(1) Observable (2) Not measurable
(3) Not observable (4) Cannot be studied
Options :

19088911637. 1
19088911638. 2
19088911639. 3

19088911640. 4

Question Number : 36 Question Id : 1908892934 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Expand SOLO

(1) System of the Observed Learnming Outcome
(2) Structure of the Observed Learning Qutput
(3) Structure of the Observed Learning Outcome

(4) System of the Observed Learnming Output

Options :

19088911641. 1
19088911642. 2
19088911643. 3
19088911644. 4

Question Number : 37 Question Id : 1908892935 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Heuristic means

(1) To investigate (2) To show
(3) To do (4) To act
Options :

19088911645. 1
19088911646. 2
19088911647. 3

19088911648. 4

Question Number : 38 Question Id : 1908892936 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which 1s not the focal point of triangular process of teaching?

(1) Teacher (2) Teaching method
(3) Pupil (4) Content



Options :

19088911649. 1
19088911650. 2
19088911651. 3
19088911652. 4

Question Number : 39 Question Id : 1908892937 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which 1s not correct about project method?

(1)  It1sa purposeful activity (2) It s preceded 1n social environment
(3) It 1s accomplished in real life (4) It 1s teacher centered activity
Options:

19088911653. 1
19088911654. 2
19088911655. 3

19088911656. 4

Question Number : 40 Question Id : 1908892938 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Duration of lessons in a macro-teaching 1s

(1) 5-10 minutes (2) 10-20 minutes
(3) 20-30 minutes (4) 35-45 minutes
Options :

19088911657. 1
19088911658. 2
19088911659. 3
19088911660. 4



Question Number : 41 Question Id : 1908892939 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

We move from specific to general in

(1) Discussion method (2) Drill method
(3) Inductive method (4) Deductive method
Options:

19088911661. 1
19088911662. 2
19088911663. 3
19088911664. 4

Question Number : 42 Question Id : 1908892940 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a national objective to be achieved through education in India?

(1)  Increasing productivity

(2)  Process of modernization

(3)  Increasing child’s creativity

(4)  Achieving social and national integration
Options :

19088911665. 1
19088911666. 2
19088911667. 3

19088911668. 4

Question Number : 43 Question Id : 1908892941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The branch of philosophy which 1= related to knowledge 1s called

(1) Epistemology (2) Axiology
(3) Metaphysics (4) Sociology
Options :

19088911669. 1
19088911670. 2
19088911671. 3

19088911672. 4

Question Number : 44 Question Id : 1908892942 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which type of education 1s a planned process?

(1) Formal education (2) Informal education
(3) Fixed education (4) Flexible education
Options:

19088911673. 1
19088911674. 2
19088911675. 3

19088911676. 4

Question Number : 45 Question Id : 1908892943 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a triangular process of education. What are the three components?

(1)  Teaching, learning, practice (2) Teacher, student, examination

(3) Teacher, student, Instruction (4) Teacher, student, environment

Options:



19088911677. 1
19088911678. 2
19088911679. 3

19088911680. 4

Question Number : 46 Question Id : 1908892944 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Harmonious development of the child means

(1)  Development of all qualities of mind to the fullest extent

(2)  Development of sound mind in a sound body

(3)  Development of the adjustment capacities of the child

(4)  Development of physical, mental and spiritual potentialities of the child

Options:

19088911681. 1
19088911682. 2
19088911683. 3
19088911684. 4

Question Number : 47 Question Id : 1908892945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which 1s the first school for the children education?

(1) Family (2) Soclety
(3) Friend (4) School
Options :

19088911685. 1
19088911686. 2
19088911687. 3

19088911688. 4



Question Number : 48 Question Id : 1908892946 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Method of teaching 1s to fulfill the aim of education. This 1s determined by

(1) Humanities (2) Philosophy
(3) Literature (4) Social Sciences
Options :

19088911689. 1
19088911690. 2
19088911691. 3

19088911692. 4

Question Number : 49 Question Id : 1908892947 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which 1s the stable measure of central tendency?

(1) Mean (2) Median
(3) Mode (4) None of theze
Options :

19088911693. 1
19088911694. 2
19088911695. 3

19088911696. 4

Question Number : 50 Question Id : 1908892948 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The positional measure of central tendency 1s

(1) Mean (2) Median
(3) Mode (4) Cannot be Calculated
Options :

19088911697. 1
19088911698. 2
19088911699. 3
19088911700. 4

Question Number : 51 Question Id : 1908892949 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Language. custom and values are examples of

(1) Materal culture (2) Intellectual culture
(3) Spiritual culture (4) Non-material culture
Options :

19088911701. 1
19088911702. 2
19088911703. 3

19088911704. 4

Question Number : 52 Question Id : 1908892950 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which philosophy supports the existence of cultivation of 1deas and values?

(1) Idealism (2) Naturalism
(3) Pragmatism (4) Spiritualism

Options :



19088911705. 1
19088911706. 2
19088911707. 3

19088911708. 4

Question Number : 53 Question Id : 1908892951 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gandhi's basic education 1s the influence of which philosophy?

(1) Naturalism (2) Ideahism
3) Pragmatism (4) Realism
Options :

19088911709. 1
19088911710. 2
19088911711. 3

19088911712. 4

Question Number : 54 Question Id : 1908892952 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one 1s not true about lesson plan?

: MCQ Option Shuffling : No Is

: MCQ Option Shuffling : No Is

(1) It develops confidence (2) It helps in orderly delivery of contents
(3) It 1s developed by students (4) It saves from haphazard teaching
Options:

19088911713. 1
19088911714. 2
19088911715. 3
19088911716. 4



Question Number : 55 Question Id : 1908892953 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cooperative learning 1= an alternative to

(1) Competitive learning (2) Micro teaching
(3) Macro teaching (4) Activity teaching
Options :

19088911717. 1
19088911718. 2
19088911719. 3

19088911720. 4

Question Number : 56 Question Id : 1908892954 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

India’s constitutional value of ‘equality of all’ 1s founded on several assumptions. Which of
the following 1s not among these?

(1)  Claim of human dignity (2) All men are alike by nature
(3)  All men have intrinsic worth (4)  All men are created equal
Options:

19088911721. 1
19088911722. 2
19088911723. 3

19088911724. 4

Question Number : 57 Question Id : 1908892955 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Micro teaching 1s a

(1) teacher method (2) teaching training method
(3) motivational teaching (4) student method
Options:

19088911725. 1
19088911726. 2
19088911727. 3

19088911728. 4

Question Number : 58 Question Id : 1908892956 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one 1s not the psychological principle of teaching?

(1) Proceed from concrete to abstract (2) Proceed from complex to simple
(3)  Proceed from known to unknown (4) Proceed from simple to difficult
Options:

19088911729. 1
19088911730. 2
19088911731. 3

19088911732. 4

Question Number : 59 Question Id : 1908892957 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The mental skills are reflected by which domain of learning?

(1) Cognitive (2) Affective

(3) Psychomotor (4) Co native

Options :



19088911733. 1
19088911734. 2
19088911735. 3

19088911736. 4

Question Number : 60 Question Id : 1908892958 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The important feature of cooperative learning 1s

(1) Effective learning (2) Positive interdependence
(3) Cooperation (4) Division of labour
Options :

19088911737. 1
19088911738. 2
19088911739. 3

19088911740. 4

Question Number : 61 Question Id : 1908892959 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who has propounded the theory of insight?

(1) Thorndike (2) Gestalt Psychologist
(3) Skinner (4) Pavlov
Options :

19088911741. 1
19088911742. 2
19088911743. 3

19088911744. 4



Question Number : 62 Question Id : 1908892960 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who believed 1n general intelligence factor?

(1) Sternberg (2) Spearman
(3) Gardner (4) Thurstone
Options :

19088911745. 1
19088911746. 2
19088911747. 3

19088911748. 4

Question Number : 63 Question Id : 1908892961 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a law of Gestalt?

(1) Law of closure (2) Law of proximity
(3) Law of good figure (4) Law of opponent process
Options :

19088911749. 1
19088911750. 2
19088911751. 3

19088911752. 4

Question Number : 64 Question Id : 1908892962 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following 1s not one of the intelligence as stated by Gardner?

(1)  Emotional intelligence (2) Lingustic intelligence
(3)  Spatial intelligence (4) Musical intelligence
Options :

19088911753. 1
19088911754. 2
19088911755. 3

19088911756. 4

Question Number : 65 Question Id : 1908892963 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The characteristics of social constructivist approach of learning 1s

(1) Emphasis on child’s cognition for learming
(2) Emphasis on collaboration with others for learning
(3) Emphasis on processing of information for learning
(4) Emphasis on experiences for learning

Options :

19088911757. 1
19088911758. 2
19088911759. 3

19088911760. 4

Question Number : 66 Question Id : 1908892964 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Who 1s the main propounder of cognitive constructivist approach?

(1) Piaget (2) Burner
(3) Vygotsky (4) John Dewey
Options :

19088911761. 1
19088911762. 2
19088911763. 3
19088911764. 4

Question Number : 67 Question Id : 1908892965 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What does IQ, a numerical measure of intelligence stands for?

(1) Intelligence quota (2) Intelligence question
(3) Intelligence quiz (4) Intelligence quotient
Options :

19088911765. 1
19088911766. 2
19088911767. 3

19088911768. 4

Question Number : 68 Question Id : 1908892966 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The role of the learner in construetivist approach of learning is seen as

(1 Blank slate (2) Passive being
(3) Problem =solver (4) Mimature adult

Options:



19088911769. 1
19088911770. 2
19088911771. 3

19088911772. 4

Question Number : 69 Question Id : 1908892967 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Students who can effectively express their thoughts show mtelligence.
(1)  Emotional (2) Lingustic
(3)  Inter-personal (4) cognitive

Options :

19088911773. 1
19088911774. 2
19088911775. 3

19088911776. 4

Question Number : 70 Question Id : 1908892968 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A teacher conducts a question answer session In his class to determine the abilities of

students at the beginning of an academic year. This 1s termed as ————— assessment
(1)  Formative (2) Summative
(3)  Diagnostic (4) Placement

Options :

19088911777. 1
19088911778. 2
19088911779. 3

19088911780. 4



Question Number : 71 Question Id : 1908892969 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to Freud, the three components of mind are

(1) Unconsclous, moral, immoral (2) Ego, 1d, superego
(3)  Oral.anal.phallic (4) Primary, secondary. tertiary
Options :

19088911781. 1
19088911782. 2
19088911783. 3

19088911784. 4

Question Number : 72 Question Id : 1908892970 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s not a dimension in ‘structure of intellect model™?

(1) Operation (2) Process
(3) Product (4) Content
Options :

19088911785. 1
19088911786. 2
19088911787. 3

19088911788. 4

Question Number : 73 Question Id : 1908892971 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Learning by doing is supported by whom?

(1) Idealism (2) Naturalism
(3) Pragmatism (4) Existentialism
Options :

19088911789. 1
19088911790. 2
19088911791. 3

19088911792. 4

Question Number : 74 Question Id : 1908892972 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which 1s the goal of education according to 1dealism?

(1) Satizfaction of human needs (2) Self realization
(3)  Adaptation to the environment (4) Developing dynamic mind
Options :

19088911793. 1
19088911794. 2
19088911795. 3

19088911796. 4

Question Number : 75 Question Id : 1908892973 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When there 1s a difference 1n the pace of progress of material and non material culture, then
the difference 1s called as

(I)  Technological lag (2) Cultural lag
(3)  Social lag (4) Matenal lag



Options :

19088911797. 1
19088911798. 2
19088911799. 3
19088911800. 4

Question Number : 76 Question Id : 1908892974 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Whaich 1 not naturalism’s aim of education?

(1) Education i1s the notion of man’s evolution
(2) Equip individual for the struggle for existence
(3 Learn to be 1n harmony with surroundings
(4) Inculcate moral and ethical values
Options :

19088911801. 1
19088911802. 2
19088911803. 3

19088911804. 4

Question Number : 77 Question Id : 1908892975 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a covert behavior?

(1) Thinking (2) Feeling
(3) Talking (4) Dreaming
Options :

19088911805. 1

19088911806. 2



19088911807. 3
19088911808. 4

Question Number : 78 Question Id : 1908892976 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With reference to psycho-analytic theory. find out the odd one.

(1) Super ego (2) Id
(3) Social ego (4) ego
Options :

19088911809. 1
19088911810. 2
19088911811. 3

19088911812. 4

Question Number : 79 Question Id : 1908892977 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Howard Gardener's theory of intelligence 1s known as

(1) Theory of primary mental ability (2) Two factor theory
(3) Theory of multiple intelligence (4) Triarchic theory
Options :

19088911813. 1
19088911814. 2
19088911815. 3

19088911816. 4

Question Number : 80 Question Id : 1908892978 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Whaich 1s the characteristic of summative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation 1s conducted during teaching

(4) Evaluation is to identify the difficulty of students

Options :

19088911817. 1
19088911818. 2
19088911819. 3

19088911820. 4

Question Number : 81 Question Id : 1908892979 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who 1s the pioneer that proposed the 16- basic dimensions of personahty?

(1) Carl Jung (2) Raymond Cattell
(3) Julian Rotter (4) GordonAllport
Options:

19088911821. 1
19088911822. 2
19088911823. 3

19088911824. 4

Question Number : 82 Question Id : 1908892980 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following 1s not a characteristic of ‘G’ factor with reference to two factor
theory?

(1) It 1s umversal inborn ability
(2)  Itislearnt and hence acquired in environment
(3)  It1s general mental abihity

(4)  Tt1s interaction of heredity and environment

Options :

19088911825. 1
19088911826. 2
19088911827. 3

19088911828. 4

Question Number : 83 Question Id : 1908892981 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Students are presented with clear examples and non-examples for the sake of

(I)  Lead to confusion in the minds of the students
(2)  Causes gaps 1n the understandings of coneepts
(3)  Focus on procedural knowledge
(4)  Encourage conceptual understandings
Options :
19088911829. 1
19088911830. 2
19088911831. 3

19088911832. 4

Question Number : 84 Question Id : 1908892982 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Whaich of the following 1s correct in the perspectives of constructivism?

(1) Learning 1s the process of reproduction

(2) Learning 1s the process of rote memorization

(3) Learning is the process of conditioning of behaviors

(4) Learning 1s the process of construction of knowledge
Options:

19088911833. 1
19088911834. 2
19088911835. 3
19088911836. 4

Question Number : 85 Question Id : 1908892983 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cognitive constructivism does not depend on

(1)  Experience of the child (2) Inqusitiveness of the child
(3) Environment of the child (4) Concept of the child
Options :

19088911837. 1
19088911838. 2
19088911839. 3

19088911840. 4

Question Number : 86 Question Id : 1908892984 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One trait that dominates a personality so much that influences nearly everything a person

doesiz a
(1)  Cardinal trait (2) Central trait
(3) Hidden trait (4) Secondary trait
Options :

19088911841. 1
19088911842. 2
19088911843. 3

19088911844. 4

Question Number : 87 Question Id : 1908892985 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The highest level under cognitive domain 1s

(1) Analysis (2) Synthesis
(3) Evaluation (4) Comprehension
Options :

19088911845. 1
19088911846. 2
19088911847. 3

19088911848. 4

Question Number : 88 Question Id : 1908892986 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Pragmatic educational philosophy believe In

(1) All learning 1z dependent on the teacher

(2)  All learning 1s the responsibility of the student

(3)  All learning 1s dependent on the context of place, time and circumstances
(4)  All learning 1s interactive process between teacher and student
Options :

19088911849. 1
19088911850. 2
19088911851. 3

19088911852. 4

Question Number : 89 Question Id : 1908892987 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the trait approach of personality?

(1)  Assumes that people are motivated by unconscious emotional conflicts
(2) Assumes that people have innate tendency to become self-actualized

(3)  Assumes that the individual has stable personality characteristics

(4)  Assumes that people are motivated by conflicts originating in childhood

Options :

19088911853. 1
19088911854. 2
19088911855. 3

19088911856. 4

Question Number : 90 Question Id : 1908892988 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s the contribution of Sr1 Aurobindo?

(1) Education for man making
(2) Functional Education
(3) Education for international understanding

(4) Integral education

Options :

19088911857. 1
19088911858. 2
19088911859. 3

19088911860. 4

Question Number : 91 Question Id : 1908892989 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What did pragmatism recommend?

(1) Basic education (2) Project Method
(3) Play-way Method (4) Story telling method
Options :

19088911861. 1
19088911862. 2
19088911863. 3

19088911864. 4

Question Number : 92 Question Id : 1908892990 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One fundamental principle of motivation which inspires students to work harder 1s when

(1) students follow reasonable goals set by others
(2)  students know they will receive rewards
(3)  students know that punishment may follow

(4) students set their goals

Options :

19088911865. 1
19088911866. 2
19088911867. 3

19088911868. 4

Question Number : 93 Question Id : 1908892991 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The most effective feedback incentives are those

(1) Given frequently
(2) About a students’ specific progress
(3) Given infrequently

(4) About a students’ overall progress

Options :

19088911869. 1
19088911870. 2
19088911871. 3

19088911872. 4

Question Number : 94 Question Id : 1908892992 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



What 1s development?

(1) The process by which an organism changes his physical fitness
(2) The first five years of life

(3) Process of growth from infancy to adult

(4) Functional change of human body

Options :

19088911873. 1
19088911874. 2
19088911875. 3
19088911876. 4

Question Number : 95 Question Id : 1908892993 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A child who has unusual difficulty in oral instruction may have the following impairment?

(1)  Intellectual disability (2) Cerebral palsy
(3)  Hearing impairment (4) Visual impairment
Options :

19088911877. 1
19088911878. 2
19088911879. 3

19088911880. 4

Question Number : 96 Question Id : 1908892994 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The law of learning 1s given by

(1) Pavlov (2) Thorndike
(3) Skinner (4) Kohler



Options :

19088911881. 1
19088911882. 2
19088911883. 3
19088911884. 4

Question Number : 97 Question Id : 1908892995 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Programmed learning 1s based on the principle of

(1)  Conditioming learning theory (2) Cognitive learning theory
(3)  Gestalt learming theory (4) Operant conditioning learning theory
Options :

19088911885. 1
19088911886. 2
19088911887. 3

19088911888. 4

Question Number : 98 Question Id : 1908892996 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Computer assisted instruction 1s based on which principle?

(1) Classical conditioning (2) Pavlovian conditioning
(3) Sender conditioning (4) Operant conditioming
Options :

19088911889. 1
19088911890. 2
19088911891. 3

19088911892. 4



Question Number : 99 Question Id : 1908892997 Question Type : MCQ Option Shuffling

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of following statement best describes the definition of information technology?

(1)  Use of hardware and software for processing information
(2)  Use of principles of social science for processing of information
(3)  Use of hardware and software for storage, retreval. processing of information
(4)  Usze of hardware and software for distribution of information
Options :

19088911893. 1

19088911894. 2

19088911895. 3

19088911896. 4

:Nols

Question Number : 100 Question Id : 1908892998 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum total of deviations from the mean is

(1) same as mean value

(2) one

(3) ZEero

(4) Cannot be calculated
Options :

19088911897. 1

19088911898. 2

19088911899. 3

19088911900. 4



